# GOVT. OF NCT OF DELHI DEPARTMENT OF WOMEN AND CHILD DEVELOPMENT

2<sup>nd</sup> Floor, Maharana Pratap, ISBT Building, Kashmere Gate, Delhi-06 Email ID: rgodwcd@gmail.com

(RGO Branch)

F. No. F.6/ (242)/KWC/DD (CPDV)/DWCD/2025

Dated:

To

The Director
Directorate of information & Publicity
Govt. of NCT of Delhi
Block No. IX. Old Sectt.. Delhi – 110054

Sub: Regarding "Publication of advertisement for inviting application for the (02) post of Chairpersons and (12) Member in Child Welfare Committee under Juvenile Justice (Care and Protection of Children) Act, 2015 and Model Rules, 2016.-Reg.

Sir.

Please find enclosed herewith publication material in leading Newspapers i.e., 02 in Hindi ,02 in English, 01 Punjabi and 01 Urdu, regarding "Publication of advertisement for inviting application for the (02) post of Chairpersons and (12) Member in Child Welfare Committee", from the Department of Women & Child Development, GNCTD. In this regard, I am hereby directed to request you to get the advertisement published in the below newspaper, as per DAVP rate with black Border, size 12x10 (120) sq.cms. each, on 08.10.2025.

S.No	Name of Newspaper	Language	Edition	Size in cms	DAVP rates	Amount
1.	Indian Express	English	Delhi	120	56.23	6,747.6/-
2.	The Hindu	English	Delhi	120	40.28	4833.6/-
3.	Navbharat Times	Hindi	Delhi	120	168.13	20,175.6/
4.	Amar Ujala	Hindi	Delhi	120	64.64	7,756.8/-
5.	SULTAN E SAMACHAR	URDU	Delhi	120	16.86	2023.2/-
6.	QAUMI PATRIKA	Punjabi	Delhi	120	30.80	3696/-
TOTAL						Rs. 45232.8/-plus GST as applicable

The soft copy of the same is submitted through email. The payment of this advertisement will be made by DIP.

This issues with the approval of Director, DWCD.

**Encl: Advertisement Material.** 

Dy. Director (RGO)

0 6 NOV 2025

F. No. F. 61(2421) /CWC/DDCCPDU/DWCD/2025/13087-88

**Deputy Director, IT Cell,** Department of Women & Child Development, GNCTD, Delhi – 110006, for uploading the advertisement on the website of the Department.

Dy. Director (RGO)

#### GOVT. OF NCT OF DELHI DEPARTMENT OF WOMEN AND CHILD DEVELOPMENT CHILD PROTECTION AND DEVELOPMENT UNIT ISBT BUILDING KASHMERE GATE DELHI-110006

#### **PUBLIC NOTICE**

Under the provisions of the Juvenile Justice Act, 2015/Amendment Act, 2021 and Model Rules, 2016/Model Amendment Rules, 2022, online applications are invited for the following posts in Child Welfare Committees in the National Capital Territory of Delhi:-

- Chairperson, Child Welfare Committee 02 post
- Member, Child Welfare Committee 12 posts

The applications shall be accepted w.e.f 08.11.2025 (12:01 AM Midnight) for period of two weeks i.e. till 22.11.2025 (upto 11:59 PM). The Applicants are advised to refer to the web portal http://wcd.delhi.gov.in/ for detailed terms of reference of the appointment & eligibility criteria and refer to link http://cams.wcddel.in/ given at Department's website for applying online. After scrutiny of applications, the list of eligible shortlisted candidates shall be displayed on the website of the Department. Candidates are also advised to see the Department's Website on regular basis for any update in this regard while the process is going on.

Note: No other mode of applications except online shall be entertained by the Department. The Department also reserves the right to increase or decrease the number of vacancies at any point of time.

Sd/3 DIRECTOR DEPARTMENT OF WCD, GNCTD

Depty Director Just Depty Director Just D

### राष्ट्रीय राजधानी क्षेत्र दिल्खी सरकार महिला एवं बाल विकास विभाग बाल संरक्षण एवं विकास इकाई आईएसबीटी बिल्डिंग, कश्मीरी गेट, दिल्ली-110006

## सार्वजनिक सूचना

किशोर न्याय अधिनियम, 2015/ संशोधन अधिनियम, 2021 और मॉडल नियम, 2016/ मॉडल संशोधन नियम, 2022 के तत्वाधान में, राष्ट्रीय राजधानी क्षेत्र दिल्ली में बाल कल्याण समितियों में निम्नलिखित पदों के लिए ऑनलाइन आवेदन आमंत्रित किए जाते हैं:-

- अध्यक्ष, बाल कल्याण समिति 02
- सदस्य, बाल कल्याण सिमति-12

आवेदन दिनांक 08.11.2025 (प्रातः 12:01 बजे मध्यरात्रि) से आगामी दो सप्ताह की अवधि हेतु अर्थात् दिनांक 22.11.2025 (रात्रि 11:59 बजे तक) तक स्वीकार किए जाएंगे, आवेदकों को नियुक्ति के संदर्भ में और पात्र मानदंडों के लिए वेब पोर्टल http://wcd.delhi.gov.in/ देखने की सलाह दी जाती है और ऑनलाइन आवेदन करने के लिए विभाग की वेबसाइट के लिंक http://cams.wcddel.in/ देखें। आवेदनों की जांच के बाद चयनित किए गए उम्मीदवारों की सूची विभाग की वेबसाइट पर प्रकाशित की जाएगी। उम्मीदवारों को यह भी सलाह दी जाती है कि प्रक्रिया जारी रहने के दौरान वे इस संबंध में किसी भी अपडेट के लिए विभाग की वेबसाइट को नियमित रूप से देखते रहें।

नोटः विभाग द्वारा ऑनलाइन के अलावा किसी अन्य माध्यम से आवेदन पर विचार नहीं किया जाएगा। विभाग किसी भी समय रिक्तियों की संख्या बढ़ाने या घटाने का अधिकार भी सुरक्षित रखता है।

> Sd/-निदेशक (महिला एवं बाल विकास)

